
SAP ABAP table TKZX3 {Credit objects for overhead cost elements per BUKRS/GSBER}

TKZX3

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KOKRS [CHAR (4)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

ZUENT [CHAR (3)]

DATBI [DATS (8)]

KSTAR [CHAR (10)]

AUFNR [CHAR (12)]

KOSTL [CHAR (10)]

HRKFT [CHAR (4)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]
 TKZX3-AUFNR = AUFK-AUFNR 

0..N

0..N

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 TKZX3-KSTAR = CSKA-KSTAR 0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 TKZX3-KOSTL = CSKS-KOSTL 0..N

0..N

T000

MANDT [CLNT (3)] TKZX3-MANDT = T000-MANDT 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 TKZX3-BUKRS = T001-BUKRS 
0..N

0..N

T681A

KAPPL [CHAR (2)]

 TKZX3-KAPPL = T681A-KAPPL 

0..N

0..N

T687

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KVSL1 [CHAR (3)]

 TKZX3-ZUENT = T687-KVSL1 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 TKZX3-GSBER = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 TKZX3-KOKRS = TKA01-KOKRS 

0..N

0..N

TKKH1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOATY [CHAR (2)]

HRKFT [CHAR (4)]

 TKZX3-HRKFT = TKKH1-HRKFT 

0..N

0..N


